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QUESTION 1

Which statement is correct about wireless assurance?

A. Wireless assurance is a legacy WLAN construct that is difficult to use.

B. Wireless assurance can be used to proactively optimize WLAN performance.

C. Wireless assurance is used by clients to ensure that a Wi-Fi connection is stable and reliable before joining.
D. Wireless assurance does not require a subscription.

Correct Answer: B

Reference: https://www.juniper.net/us/en/products/cloud-services/wi-fi-assurance.html

QUESTION 2

You received reports of users not being able to access network resources all day. You know that your network has two
DHCP Servers: 10.7.0.24 and 10.1.0.24. Referring to the exhibit, what do you determine?

MARVIS
rank dhcp

RANK DHCPServers BY ClientEventCount DURING "Today"

10.10.10.10 [} 253

A. DHCP is not the cause of the network connectivity issue.

B. There is a rogue DHCP server 10.10.10.10 handing out DHCP leases on your network.
C. More information is required.

D. The network\\'s DHCP servers are offline.

Correct Answer: C

Reference: https://www.mist.com/documentation/useful-marvis-queries/
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QUESTION 3

Which statement is correct about Marvis?

A. Marvis handles the on-boarding process for WLANS using third-party APs.

B. Marvis is a module that facilitates WLAN automation tasks using API information.

C. Marvis is an Al engine that assists administrators with troubleshooting problems using Al.
D. Marvis is the user interface used to manage virtual machines.

Correct Answer: C

Reference: https://www.juniper.net/us/en/products/cloud-services/virtual-network- assistant.html

QUESTION 4

The Mist cloud dashboard indicates that an AP does not have an IP address. In this scenario, which statement is

correct?
A. The Mist AP used its built-in LTE radio to inform the Mist cloud that it did not have an IP address.

B. The Mist cloud pro-actively checks-in with each AP to gather this type of information.

C. The Mist AP used BLE advisement to inform a neighboring Mist AP that it did not have an IP address, the

neighboring AP then informed the Mist cloud.
D. The AP used the MIST RESTful API to inform the Mist cloud it did not have an IP address.

Correct Answer: B

QUESTION 5

Which statement is correct regarding the Mist UI?

A. The Mist Ul is used to manage network devices.

B. The Mist Ul is used to distribute routes between your wireless and physical networks.
C. The Mist Ul is used by clients to connect to wireless networks.

D. The Mist Ul is used by cloud providers to provision VMs.

Correct Answer: A

QUESTION 6

How is the WLAN affected if Wi-Fi 6 is disabled?
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A. The maximum theoretical data rate is reduced.
B. No Wi-Fi 6 clients will be able to connect.

C. All clients will connect using Wi-Fi 5.

D. No 802. 11ax clients will be able to connect.
Correct Answer: D

Reference: https://www.mist.com/documentation/disable-wifi-6/

QUESTION 7

Which three switch testing tools are available when using Wired Assurance? (Choose three.)
A. bounce port

B. iPerf

C. ping

D. load factory-default

E. cable test

Correct Answer: ACE

Reference: https://www.mist.com/documentation/switch-testing-tools/

QUESTION 8

What is the purpose of the PoE pass-through on a Mist AP?
A. to daisy chain BT11s

B. to power a laptop during the deployment phase

C. to power any Mist AP

D. to power the Mist AP43 only

Correct Answer: A
Reference: https://www.mist.com/documentation/daisy-chain-access-points/

QUESTION 9

What is the purpose of a Probe Request frame?
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A. to discover all clients associated to a particular WLAN
B. to discover all WLAN devices on a particular channel
C. to discover available WLANs

D. to associate to a WLAN

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos-space-apps/network- director3.1/topics/
concept/wireless-scanning.html

QUESTION 10

Which statement is correct about Mist\\'s location-based services?

A. Location services are used to track client movements that are connected to the Mist WLANS.
B. Location services are used to identify the location of cloud-based services.

C. Location services are used by clients to identify which SSIDs are available on the site.

D. Location services are used to identify the geographical location of corporate buildings.
Correct Answer: A

Reference: https://www.mist.com/resources/mist-platform-solution-brief/

QUESTION 11

What are three ways to claim an AP? (Choose three.)
A. Enter the order ID.

B. Enter the AP serial number.

C. Enter the activation code.

D. Use the Mist Al application.

E. Enter the AP claim code.

Correct Answer: CDE

Reference: https://www.mist.com/documentation/claiming-aps/

QUESTION 12

Which two statements are correct about switch adoption? (Choose two.)
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A. Greenfield switch adoption requires cloud-enabled switches with a claim or activation code.
B. Switch adoption uses SSH over TCP port 443.
C. Switch adoption requires Mist AP.

D. Brownfield switch adoption requires manual adoption and is used for switches that do not have a claim or activation
code.

Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/release- independent/nce/topics/example/ncel77-day0-mist-
with-ex-switches.html

QUESTION 13

What is a prerequisite for AP-name generation under auto-provisioning?
A. The LLDP system name should be configured on the switch ports.

B. The AP must have the default name of "mist

C. The LLDP description should be configured on the switch ports.

D. The AP must be connected to a Juniper EX Series switch.

Correct Answer: C

Reference: https://www.mist.com/documentation/auto-provisioning/

QUESTION 14

You want to force a guest portal user to re-authenticate to the wireless LAN. Using the Mist Ul, which command will
accomplish this task?

A. release AP

B. reconnect

C. auto upgrade

D. reauthorize

Correct Answer: B

Reference: https://www.mist.com/documentation/difference-reconnect- reauthorize/#:.~:text=Almost%?20all

%20devices%20connect%20right,only%20to%20already %20authorized%20guests.andtext=Then%2C%
200nly%20guests%20who%20know,t0%20us e%20the%20guest%20WLAN

QUESTION 15
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What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement” is enabled?
A. performs radio resource management

B. locates Wi-Fi assets

C. transmits unique and directional BLE beams

D. performs personal pre-shared key sharing

Correct Answer: C

Reference: https://www.mist.com/resources/ap61-access-point/
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